STXR _
(e

8 M X
gloaO— K K46269
i) X TGT12010
g i TGT12010-08

BB EN DRRIT. I SRt RE N e IEBELEZLY,
RAERRD—EBIIE, Fe8 -tV MEGTNADERRD HIET,

HASHIHIAY —






&8

R

EED TEXIZDONT

gl

1. %

pais

O

f

[u}

put
gl

B
R PN
P!

5
=
3

OHLOO
EXEEE
£D 5T 50

i3

X AR EXIMARREE LV, RRICRAT
DH—LTL—FIRRTLTUWET,

CfEgmo [ ] [ UTFozexLT
B ET,

E].n

\

VAR E MAIAEN T D EEA
BLELE & (2 X0 B DR

s T oA SICE END R CH
TS LA2WOER

3. REESN[ ] K> Tnaboid, il
HERG LEV, WHINES DD £TOT, £
DOHEE ZHR S TIHE 77,

4. fAEEO—FIZIZ, £ &Y MRFED
OB 4, THEXOBIETHERL 2
SV, FEERLER L, S AUTTOD R WER ST
v MRIEEOADR G E SETWETEEET,

X ERERASEEIT & FER I - HEE LT
THIERHY T,

TYEXOBRE, FRUHEA &2 T < 2S00,

HIEHAmOBIEERIZONT

AR S X S ALMUE SR 2 B B VR D < 72 X0,
HBERLL 2 BEVIZR 0 9 & RO R
MHREIC BT DA RH Y £7,

Z OB ORHME R OMFEER (I) 13,
BEFTHEIV % 9OFETH, L, EEFRAT
HoTh, BHEBEICOWTITMEIZR & %2 %
SHTCWEELGELH Y £,

FHEE T ORI IR RIS X ERROMRHER ©
BT LETH, EFEREERETHoTEH, i
ke D ZTEEED B o I A T X ORI o
WTTHRSE QW2 & 9,

{REEIZDLNT

Mgtk ot IT i EZEORIN L 72 4O T, 17
RNTLIEE WY,

BOE L7e e P EF R~ S 7z iE LWy
R E R D5E13, REEOXMRIMNIARY F
FTOTIEESZIN,




TGT12010 JrvAAOFv4
2P7L—Ls

- IS 7 \
BSS

&S| & & & 5 H i 4 PR %k fii
1 1424940003 2P7L—ACP 1
2 1262461003 n—o Y757y k 2
3 | 000011300M eIV 2 | N, SWff
4 | 087816200M (V% 2
5 | 000739000M JoFEL ;9 2
6 ONA6 JI)—A=v7)L A M6 2
7 126416000M ER VA Ny 1
8 | 044097200M Ty ;8 1
9 | PC032016 JUEY 3. 2X16 1
10 | 000739000M JoFLEL: 9 1
11 | 1424980003 JL—AELCP 1
12 | BZ12025 ALE 8.8 M12x%X25 2
13 | WSAL2 NREYPHR 337 M1 2 2
14 | NC2L20150 ¥y vALFy b 2vabZ M20X1. 50 1
15 | 080456000M S 1
16 | PC040032 JUYEL 4X32 1
17 | 0008600000 DHEH—LTFL—Fk 1
18 | 1172720000 F~L; 350~540rpm 1
19 | 1061640000 SV A4 al 1 1




TGT12010 JrvAAOFv4

IL—L4;1
22\@ - K<
2 f\ % »7 R, @/48 4 \ ﬁ’l 3
23 AN
j@ / " 44/'“3&%ﬁ 1 2N
22 26 Q/{

24

5

N
)
o @
o

21 41

B
&S| & & & 5 T D < B i %k fii
1 1425991003 A2 7L—ACP ; F 1
2 1426104003 AA 7L —ACP : RE 1
3 1426340003 A2 T7L—ALCP 1
4 | 1426460003 257 —CP 1
5 1426470003 F1—k 2
6 | 8026511000 F ¥ IV CP 2
7 1 0816341000 ARV A 8
8 = | BJ060025 HIX¥v 7B 10. 9 M6X25 8
9 | WRAO6 LY x M6 8
10| 1490130000 A1, 6 -
11 | NNFO6 775004 arFy b M6 8
12 | 142685000M L ;C16X250 2
13 | 000739000M JoFEL 9 4
14 | 1426760000 TLTL—h 2
15 | BZ16060 AR 8. 8 M16X60 8
16 | BZ16040 ALE 8.8 M16X40 3
17 | WSA16 NREYPHxR 337 M1 6 11
18 | NZ16 Fvhk 8 22 MI16 11
19 | BZ12030 ALE 8.8 M12X30 6
20 | WSAL2 NREAPF IR 337 M1 2 6
21 | NZ12 Fvh 8 232 MI12 6
22 | 1426510000 7 ia 2
23 | ONA6 TV —RA=v 7L A M6 2
24 | 1262850004 AZRCP ;01200 1
25 | CAP060060 Xyv” 60X60X3. 2 1

_2_




TGT12010 JrvAAFv4
JL—LA:1

aowz] <

24

10

41

A& & & & 5 e D - %k fi
26 | 126338000M HHR—FE>; 16 1
27 | 000739000M JoFEL ;9 1
28 | 142652000M F>CP:F40X135 2
29 | BZ12040 AVE 8. 8 M12xX40 2
30 | NNF12 75 VA arF v R M1 2 2
31 | BX14045 ALE 10. 9 M14X45 8
32 | WSAl4 NEAP AR 337 M1 4 8
33 | 087225100M Ty ; 14 8
34 | 802530000M o7 CP 1
35 | 142671000M > :C30X160 1
36 | 135240000M 27V H1., 8X16X145 1
37 | WRA30 EIHAHx M30 4
38 | PC063056 7Y 6. 3X56 2
39 | 802532000M 7 Z— 2
40 | ONB6 JYV—2=v )L B M6 2
41 | 1424580000 TYL VA BT R 2
42 | 1424600000 S~ 12m 1
43 | 1339780000 STAR~—Z7I~L; 40 1
44 | 8025130003 HX—7/7CP 1
45 | 8025150003 F ¥ IV 1
46 | BSZ08020 afHEFLE 7T M8X20 2
48 | NNFO8 7500 furF v b M8 2




TGT12010 JrvAAOFv4
JL—L;2

> 32 33 14\§
4 v
k 16
34 %/
AZREEMA
&S| & & & 5 il 4 PR %k fii =
1 1425892003 ¥ 7L —ALCP 1
2 142655000M ECP;F40Xx115 2
3 | BZ12040 AR 8.8 M12xX40 2
4 | NNF12 75 o et vk M1 2 2
5 | ONAS1 JI)—ZA=v7 A PT1/8 2
6 1426580000 AL KL 1
7 1426590004 Vo7 727y hCP 1
8 1426620004 XA TFCP 1
9 | 0667243000 7N 7 1
10 | 0586401000 AES 1
11 | 068310100M L R— 1
12 | 066722300M L N—17 A 1
13 | 062286000M AT T 2
14 | 0586161000 RS 1
15 | J51104 AFGAITYZ 51104 1
16 | PS060032 AFY LT 66X 32 2
17 | BSZ08025 aHFERLE 7T M8X25 1
18 | NSPos AFHATV Ty s 4 M8 1
19 | BZ06040 ALE 8.8 M6X40 1
20 | NNFO6 75004 arFy b M6 1
21 | 142551000M L ;C30%X135 1
22 | WRA30 eI AR M30 2
23 | PC063056 7Yy 6. 3X56 2
24 | 1426660003 F1—k 1
25 | BZ16040 AR 8.8 M16xX40 2

_4_




TGT12010 Tv4/OTv4s

JL—L;2

T~
32 33 15\§
14\%
]
16
34 %/
AZREEAA
&R & an & 5 T D - [[EES {i} =
26 | WSA16 NAP R 337 M16 2
27 | NZ16 Fvh 8 232 M16 2
28 | 1557070004 25—CP ;L 1
29 | 1557080004 25—CP ;R 1
30 | BX10060 ALE 10. 9 M10X60 4
31 | NSZ10 a2k 8 232 M10 4
ASY | 0008560000 ZA¥YAS:10,/,80—12—6PR -
32 | 0003790000 24%¥:10,/,80—12—6PR 2
33 | 0003860000 Fa2—7:10,/80—-12 2
34 | 000854000C AA—/L; 700X 12 2
35 | 0009741004 NT 5 62X80 2
36 | J30206 T—0—F 7Y 7 30206 2
37 | J30208 FT—u—I_7Y 7 30208 2
38 | 0009750000 =Ty x ; 40X80 2
39 | 000712000M FrvALFy b, M24X1. 5 2
40 | PC040032 JUEY 4X32 2
41 | 0009680004 Tyv7; 62 2
42 | BXI1615050 ALK 10. 9 ¥ M16X1. 50X50 | 10
43 | WSA16 NREAYPHR 337 M16 10
44 | 000976000M BRA—/LF v F; M16X1. 5 10
45 | ONBSI 7V —2A=v7) B PT1,/8 2
46 | WSA10 NREPHR 337 M10 4




TGT12010 JvAAOTFv4

HES (1)
10
1
2
>
14035-1 HEITAME
&S| & & & 5 il 4 PR %k fii
1 |8025270000 | /SU—+aA> F;WITLL120A—100 1
9 | 1423130000 | v 7 ~ 1
3 | 1423140000 | > % 7 h A — 1
4 | 0008270000 | PI1CH A —; 3 1
5 | BPZ06016 SWYIXALE 8. 8 M6xX16 3
7 0288332000 | Vv v 6 3
8 | JC307LLU Z=—y haw~7U.7 CS307LLU 2
9 | DHCOSO CHERAU 75 80 1
10 | 1423530000 | SU—TaA> k; 90—T 1




TGT12010 JxAOFvH
IE2(A)

&S| & & & 5 il 4 PR %k fii
1 1422690003 AA XY R Y T A 1
2 1422710003 HT7T7L—A A 2
3 1422640003 H—XXYr—Z; A 2
4 1422720002 ¥7h:;PIC 1
5 1422731002 a—X7 Ky r ; A 2
6 1422740002 NAYLEFY M6, 5X19T 1
7 1422750002 NAYLEF M6, 5X21T 1
8 1422760002 YaA b 1
9 | D407210 AN —)L DA40XT2X10 1
10 | J6208 R—N_X7Y 7 6208 1
11 | J6309 R—=nN_X7Y 7 6309 1
12 | DC045 CHHANADU T 45 1
13 | DHC100 CHZKMAY 775 100 1
14 | J6307 R—=N_X7Y 7 6307 2
15 | D356208 FANLT—)L D35X62X8 2
16 | DCO35 CHH¥ AU ¥7 35 2
17 | J6306LLU R—N_T7Y>r7 6306LLU 2
18 | 0838911002 NRAYLE =42 ;3 16T 2
19 | KFC08070500 |~ 2% — Ugy<)l 8X7X50 2
20 | J6206LLU R—=nN_X7YV 7 6206LLU 2
21 | 1422630003 BTV T 2 2
22 | PS080050W AT ZT7ay 8X50 2
23 | PS050050W AV HT7Na Ty 5X50 2
24 | BZ12035 ALk 8.8 M12X35 4
25 | BZ12045 ALk 8.8 M12X45 8

_7_




TGT12010 JxAOFvH
IE2(A)

&S| & o5 & 5 il i 4 i) A% fi
26 | WSA12 NP H R 3a7 M1 2 12
27 | 1423220003 7L — kK 2
28 | BX14045 ALE 10. 9 M14xX45 4
29 | BX14035 AVE 10. 9 M14x35 4
30 | WSA14 NREPHR 337 M14 8
31 | KRCA6210 ¥y v s VNP RCA62—10 1
32 | 0591333000 Frv 777, AS 1
33 | 000338000M M10O0777 1
34 | 0003390000 Ny M107F573aw) 1
35 | ONA6 J)—A=v7)L A M6 2




TGT12010 JxAOFvH
7F>(B)

>
HEITAR
&S| & & & 5 il 4 PR %k fii
1 1422821003 #7771 —ACP ; L—B 1
2 1423151003 #7771 —ALCP ; R—B 1
3 1422660003 ro=F4r; A 2
4 1422640003 0—=2X¥r—x; A 2
5 1422780002 a—X7 KyYs ;B 2
6 | J6206LLU R—N_T7TVYV7 6206LLU 4
7 | J6306LLU AR—L_7V7 6306LLU 2
8 | 0838911002 RAYLE=A2 ;0 16T 2
9 | KFC08070500 | ~f 2% — Uz~ 8X7X50 2
10 | 1422630003 BTV T2 4
11 | PSO80050W AFV e F7uay 8X50 4
12 | PS050050W AV HTNay 5X50 4
13 | BZ14030 ALE 8.8 M14X30 8
14 | BX14035 ALE 10. 9 M14xXx35 16
15 | WSAl4 NREPHR 337 M1 4 24
16 | ONAG TV —2A=v 7L A M6 10
17 | 1423020002 v 2 4
18 | PS100050W ATV F7ady 1 0X50 4
19 | PS060050W AV XTIy 6X50 4
20 | 1423230000 HrR— 2
21 | 142324000M Z1—k 4
22 | BPZ06016 SWYF%HR/LE 8. 8 M6X16 8
24 | WRAO6 E 7Y HEX M6 8




TGT12010 JxAOFvH
7E~(C)

&S| & & & 5 il i 4 PR %k fii
1 1422831003 #7771 —ALCP ; L—C 1
2 1423161003 #7771 —ALCP ; R—C 1
3 1422660003 cNo=4>r; A 2
4 1422650003 0 —=4X¥r—2x ;B 2
5 1422841003 #7771 —ALCP ; L—D 1
6 1423171003 #7771 —ALCP ;: R—D 1
7 1422790002 n—X7 Ryyr ; C 2
8 | J6206LLU R—_TV 7 6206LLU 4
9 | J6306LLU AR—=n_X7Y 7 6306LLU 2
10 | 0838911002 R =F2 16T 2
11 | KFC08070500 | ~Afavu¥%x— Uzg~w/)l 8X7X50 2
12 | 1422620003 BTV T 1 2
13 | 1422630003 BTV T 2 2
14 | PS120050W ATV T XTIy 12X50 2
15 | PSO80050W AT AT7ay 8X50 4
16 | PS050050W AN HTNay 5X50 2
17 | BZ14030 AR 8.8 M14X30 8
18 | BX14035 AR 10. 9 M14xX35 24
19 | WSAl4 NEAP TR 337 M1 4 32
20 | ONA6 JN)—A=v 7L A M6 14
21 | 1423020002 B2 4
22 | PS100050W ATV F7dy 1 0X50 4
23 | PS060050W AV XTIy 6X50 4
24 | 1423230000 J/R— 2
25 | 142324000M Z1—h 4

_10_




TGT12010 JxAOFvH
7E~(C)

it
AHES| H# S & 5 1 TR < B, ) %k i %
26| BPZ06016 SWYXALE 8. 8 M6X16 8

28 | WRAO6 IR M6 8

_11_



TGT12010 JxAOFvH
7F~ (D)

HEITHR

&S| & & & 5 il 4 PR %k fii =
1 1422670003 rh7=%4. ;B 2
2 1423110002 a—X%7 RyYr ;D 2
3 | J6206LLU R—=nN_7YV 7 6206LLU 4
4 1422620003 BTV T 1 4
5 PS120050W ATV Ty ZT7ay 12X50 4
6 PS080050W ATV T XTIy 8X50 4
7 ONA6 J)—A=v7)L A M6 4
8 1423010002 (S 4
9 | PS100050W AT A7uay 10X50 4
10 | PS060050W ATV T XTIy 6X50 4
11 | 1423230000 H 78— 2
12 | 142324000M 71—k 2
13 | BPZ06016 SWYHHR/LE 8. 8 M6X16 4
15 | WRAO6 WX M6 4

_12_




TGT12010 JxAOFvH
ZF2(E)

&S| & & & 5 il 4 PR %k fii
1 1422680003 h7 =% ; C 2
2 1422851003 #7771 —ALCP: E 2
3 1422650003 0—XXYr—2 ;B 2
4 | 8029290003 HZ771L—ALCP ; F 2
5 | 0876442003 0 —X% XY ir—=x 2
6 | DCO30 CHZKAD Y7 30 2
7 1423120002 n—X%7 Ryy” ; E 2
8 | J6206LLU R—N_XTV 7 6206LLU 2
9 | J6306LLU AR—=A_T7V.7 6306LLU 4
10 | 0838911002 R =F2 16T 4
11 | KFC08070500 | ~Afav¥x— Uzgu~w/)l 8XT7X50 4
12 | 1422620003 BTV T 1 2
13 | PS120050W ATV B3Iy 12X50 2
14 | PSO80050W ATV T XTIy 8X50 2
15 | BX14035 AR 10. 9 M14xX35 32
16 | WSAl4 NREYPHR 337 M1 4 32
17 | ONB6 JYV—A=v7) B M6 2
18 | ONA6 JN)—A=v7)L A M6 6
19 | 1423010002 (S 4
20 | PS100050W ATV F7Id T 10X50 4
21 | PS060050W ATV T ETay 6X50 4
22 | 1423230000 HrR— 2
23 | 142324000M FL—h 4
24 | BPZ06016 SWYFAR/LE 8. 8 M6X16 8

_13_




TGT12010 JxAOFvH
ZF2(E)

RIER] 5 & 5 R W feif | f el
26 | WRAO6 E 7% M6 8
27 | 1064730000 TYL S 59 2
28 | 1064740000 TYL S 60 2
29 | 1064750000 TG EE 61 2

_14_



TGT12010 JrvAAOTFv4
O—4-0—A23 x24T —1s

_15_



TGT12010 JrvAAOFv4
O—4-0—A23 x24T —1s

I/
i

/i

P

25-. ‘@

=
74
7/

sl
;:‘ 4

E7-—28

&S| & o5 & 5 I - i) A% fi =
26 | 074590000M AL 60
27 | 079356000M AA a2y Aok 60
28 | BZ14050 ALE 8. 8 M14X50 60
29 | NZ14 Fvh 8 232 M14 60
30 | WSA14 NREPHR 337 M14 60

_16_




TGT12010 Tv4/OTv4s

V9

14042-1

R db bh 3w 5 T I - 1% 1
1 1425010003 AT —CP 2
2 | 142504000M o R 2
3 | ONB6 7V —2=v7)L B M6 2
4 | 142505100M HT7—;35X32 2
5 | PSO80050W AFN Ty A71Fy 8X50 2
6 PS050050W AT XTIy 5X50 2
7 | 142506000M > :C20X%X133 2
8 | 142507000M EL:C20X%X82 2
9 | WRA20 IR M20 8
10 | PC050036 JUEY 5X36 8
11 | 142508000M 7—ALCP 4
12 | 70B-2535 RIA Ay N Tvia 25X28X35 8
13 | 026970100M TJyiyx; 14 8
14 | WSAl4 NREYPHR 337 M1 4 8
15 | NZ14 Fvh 8 232 M14 8
16 | 1425110004 777 v ~CP 2
17 | BZ14035 ALE 8.8 M14X35 8
18 | WSAl4 NREYPHR 337 M1 4 8
19 | 142515000M SV 2
20 | PSO80040W 2SNy AT7Iy 8X40 4
21 | PS050040W ATV T XTNay 5X40 4
22 | ONA6 TYV—Z2=v )L A M6 8
23 | 1454861000 F ¥ F)LCP 2
24 | BJ10040 HIF7F¥>y 7 10. 9 M10X40 4
25 | 067737000M Ty 4
26 | NNF10 75V A4 uarF vk M10 4

_17_




TGT12010 JrvAAOFv4

H—K

RER| 5o & B A R < B i %k fii
1 1425210004 H—RCP ; A 1
2 | 1425220004 H—RKCP ; B—L 2
3 | 1425230004 #H—RKCP ; B—R 2
4 | 1425240004 H—RKCP ; C—L 1
5 | 1425250004 H—RKCP ; C—R 1
6 | 1425260004 25—CP ;L 2
7 | 1425270004 25—CP ; R 2
8 | 1425280004 25—CP ;1 4
9 | 1425290004 2F—CP; 2 2
10 | CAP034020 Xvv/ 34. 0X3. 2 8
11 | CAP028616 Xxv7” 28. 6X1. 6 2
12 | BZ14040 ALK 8.8 M14xX40 24
13 | WSAl4 NREYPHR 337 M1 4 24
14 | NzZ14 Fvhk 8 232 Ml14 24
15 | BSZ10025 aGEFRLE 7T M10X25 28
16 | BSZ10070 aFEFRLE 7T M10OXT70 4
17 | WSAL0 NEPFHR 3a% M10 36
18 | NSZ10 aBfAFyh 8 232 MI1O 34
19 | BSZ10030 afEFRLE 7T M10X30 4

_18_




TGT12010 SvAOFvH
TORI -2 ) o IN—- 34 ¥

#TAE

RiER| & an & 5 H i 4 b %k fii
1 0839115004 Ty VT — A 10
2 | 073303300M (S 10
3 | 802459000M AFY 1. 6X12X26. 5 10
4 | 073305100M L /N— 10
5 | PS040025 AFY LT 4X25 10
6 ONA6 TV —Z2=v7)L A M6 10
7 ONC6 JV)—A=v7/L C M6 10
8 | 083912000M (5% 10
9 | PS050040 AFY LT 5X40 10
10 | PC050036 JUEL 5X36 10
11 | 0839274004 xR —K; L 5 | £
0839284004 vy oA —bh; R 5 | Al
0473641003 Ty U YAR— B ks
12 | 0872543004 KA —NT %7 hCP ; L 1
13 | 0872553004 KA =17 hCP ; R 1
14 | 0936353004 ARA—% 7 RCP ; L 4
15 | 0936373004 KA —NT %7 hCP ; R 4
16 | 083929100M HFR—KFEL; 16 10
17 | 000739000M JoFEL ;9 20
19 | 1290370004 ¥ U HNR—CP ; L 4 | el
20 | 1290360004 ¥V N—CP ; R 4 | A
21 | BSPZ08016 a2 SWYFARLE 7 M8X16 24
22 | WRAOS E 7YX M8 24
ASY | 1557060000 HA¥YIIAX:16X6. 50—8—4PR

_19_




TGT12010 SvAOTvH
T ORI =2 ) o IN—- 31 ¥

13
»
EITHRE
REs| H s FE B oo A PR 854 fiii
23 1548520000 XA ;16X6. 50—-8—4PR 10
24 1548530000 F=a2—7:;16,/6. 50—8 10
25 081225000C AA—)L ;5. 3751IX8 10
26 J6205LLU A=N_XTU7 6205LLU 20
27 0812260000 i 5 = 10
28 000532000M Xy 10
29 000762000M Xy w7 10
30 072968100M Ui x; 14 10
31 NZ14 JFvhk 8 2v=2 M14 10
32 WSA14 NP AR 337 M14 10

_20_




TGT12010 JrvAAOFv4

a7y

fal)” BT =1
RiER| & an & 5 il i 4 PR %k fi
1 CLF40M BT FA PT1,/2 4
2 0007781000 N7 7%xv7 5 1,/2 4
3 | 2081-08-04 T PT1,/2XPT1,/4 4
4 | 2083-04 =7 PT1,/4 4
5 | 0009280000 ARy TFNINT 1,4 2
6 112156000M SARIRV 1,4 2
7 | KHO406300AP | =7 YHR—A 1,/4X6300 1—4 2
8 [ KHO405700AP | =7 YhR—A 1,/4X5700 1—4 1
9 [ KH0O405000AP | 7Yk —Z 1,/4X5000 1—4 1
10 | 1346210000 T2y amRy;3,/8—-01 1
11 | 102551000M Ty PF3,/8XPT1,/4 3
12 | 1013-04 AR—A=v 7/ PF1/4XPT1,/4 2
13 | 2091-04 T4— PT1,/4 5
14 | 2088-04 AAFAT)LR PT1,/4 4
15 | 2083-04 =v7) PT1,/4 4
16 | KH0401250BP | =7 Y7hR—A 1,/4X1250 S1—4 1
17 | KH0401600BP | =7 Y7Hh—A 1,/4X1600 S1—4 1
18 | KH0402900BP | =7 Y7HR—A 1,/4X2900 S1—4 1
19 | KHO403250BP | =7V AHA—A 1,/4X3250 S1—4 1
20 | 1427290003 77 hCP 1
21 | 1427300003 HR—C P 1
22 | BZ06055 ALk 8. 8 M6X55 2
23 | CP06016 +F_Raxy M6X16 8
24 | WRAO6 E 7Y HEX M6 10
25 | WS06 NREPHx 237 M6 10

_21_




TGT12010 JrvAAFv4

ary
&S| o5 T 5 il i 4 i3 [[EEAS fii
26 | NZ06 Fvkh 8 22 M6 2
27 | KHO100630BP | =7 YH&—A 1,/4X630 S1—4 1
28 | KHO401000BP | =7 YA —A 1,/4X1000 S1—4 1
29 | KH0402100BP | =7 Y7hR—A 1,/4X2100 S1—4 1
30 | KHO402500BP | =7 YAHR—A 1,/4X2500 S1—4 1
31 | 8025810106 SULE  CWPB0OX680X1000 1
32 | 1033-04 A—AxT)R PF1,/4XPT1,/4 2
33 | 142551000M L ;C30Xx135 1
34 | WRA30 EIY IR M3 0 2
35 | PC063056 7Yy 6. 3X56 2
36 | 1425521006 PULH CWPB0X525X850 2
37 | 1035-04 RA—AxT)R45 PF1/4XPT1,/4 2
38 | 1033-04 R—AT)LR PF1,/4XPT1,/4 2
39 | 142553000M F v b 2
40 | NZA30200 Fvh 8 132 M30X2. 00 2
41 | 142554000M Ly ;C25%Xx135 2
42 | WRA24 LIV IR M2 4 4
43 | PC050045 JYEL 5X45 4
44 | 142555000M V% 2
45 | BSZ08080 aFEZRLE 7T M8X80 2
46 | NNFO8 75 A ur) v b M8 2
47 | 1425560106 TUYUH  CWPE5X605X9605 2
48 | 1033-04 AR—Ax)LR PE1/4XPT1,/4 4
49 | 142557000M T4 —7 T RKCP 2
50 | NZA30200 Fvh 8 132 M30X2. 00 2
51 | 128055000M o— 2
52 | KBB-2020B H—HRURITAXT I L7 B 20X23X20 2
53 | 142560000M % 2
54 | WRA14 LI Ax M1 4 2
55 | WSAl4 NAP TR 337 M1 4 2
56 | NZ14 Fvh 8 232 M14 2
57 | ONA6 TN —2=v7)L A M6 2
58 | 142554000M FL;C25%Xx135 2
59 | WRA24 IR M2 4 4
60 | PC050045 JYUEY 5X45 4
61 | 1259660003 A5 —CP 1
62 | BZ12025 ALk 8.8 M12X25 2
63 | WSA12 NEPHR 337 M1 2 2
64 | 098530000M F ¥ L 6
65 | 098624000M F ¥ R 3
66 | BSZ08020 aFAZRLE 7T M8X20 9
67 | WSAOS NEYPHR 337 MS 9
68 | ILT200 AvvauayIBA 4, TX202 10
69 | ILT380 AvavayIHA 7. 5X382 10
70 | 0749681000 AL FGNF2—7:500 7
71 | 1425710000 AN FGNFa—T7 250 25
72 | 142561000M T 4

_22_




TGT12010 JrvAAOFv4

R G125 kTN 25

14045
REER| & 5 F 5 il i 4 R % fi
1 0009420000 IN T IRV 2 2
2 141439000M ZL—k 2
3 BSZ08025M aHEZRNLE 7T M8X25 2
4 | BSZ08020 afBZHRNE 7T M8X20 4
5 080414 100M Jvv% ;8 6
6 | NSPO8 SHFHATIV TS 4 MS 6
7 1369770000 VYo o7 2
8 8019650000 a—FkK;9500X2700 1
9 1125540000 TAR—IEY 12V 1
10 | ILT200 AV z2ay B4 4. TX202 10
11 | 1172730000 FaI B N—FACP 1 F T g

_23_







F S—160613L

x # 0668555 F E W L E & 106 1 F M o2

TELO123-26-1123
FAX0123-26-2412

FREZEFR 06685 T mWELEERKLIOG6E 1 F 2
TELO123-22-5131

FAXQO123-26-2035

098-4100 KRIEMEEMF LY ORY1191F 44
TELO162-82-1932

FAX0O162-82-1696

BAT 0802462 WL 22 4%db1 THI12FHA4
TELO155-37-3080

FAX0155-37-5187

iEEERAT  086-1152 MEE A P EENILET 2 TH16 % 2
TELO153-72-2624

FAX0153-73-2540

TEEEZER 0283172 EFEEEHASBMILFRS11HE120%3
TELO198-46-1311

FAX0198-45-5999

& E R 983-0013 EHREMAHERBXHHFEMHE179-1
TELO22-388-8673

FAX022-388-8735

INUEZEPR 323-0158 M5 R B IR 251 2 -1
TEL0285-49-1500

FAX0285-49-1560

AWHRAF 4840894 FHMB R ILHTHEF & 8BS F 1
TEL0568-69-1200

FAX0568-69-1210

FIIWE SRR 7000973 LB ILHILK FTHE704-103
TELO86-243-1147

FAX(086-243-1269

FEAREZEFT 8618030 MEABEREATHEX/MNIUI1639-1
TEL 096-389-6650

FAX096-389-6710

IMERFT 885-1202 FHEA MW H MR 1003 -2
TEL0986-53-2222

FAX0986-53-2233

e
Hud
113
b3
3

Bl
3
Tt

. 28. 06. 38S



